1.EATE

T & & Bl g B =X % =
[k #]
REET
7 S 15.20 X 7.05 X 2 = 214.32
(NFET) Pepr[41]
a 125 X 1.25 X 6 = -9.38
b 1.25 X 030 X 10 = -3.75
c 1.25 X 0.15 X 6 = -1.13
d 0.30 X 0.30 X 4 = -0.36
e 0.30 X 0.15 X 4 = -0.18
Pepr[ it EeE]
268 X 025 X 6 = -4.02
0.25 X 057 X 2 X 6 = -1.71
e[y TR ]
1.75 X 250 - 1.50 X 2.00 = -1.38
FEAVFER
a ( 125 + 045 ) X 057 X 1/2 X 4 X 6 = 11.63
b (( 1.25 + 045 ) X 0.57 x 1/2 +
030 X 030 X 057 X 2) X 10 = 5.87
c (125 + 045 ) X 057 X 1/2 +
0.15 X 015 X 057 X 2) X 6 = 3.06
d 0.30 X 030 X 057 X 2 X 4 = 0.41
( 030 X 0.30 X 057 +
0.15 X 0.15 X 057) X 4 = 0.26
Ly by
(( 1.75 150 ) X 035 x 1/2 x 2+
( 2.00 250 ) X 035 x 1/2) X = 3.85
"y MAIEE
( 200 + 250 ) X 025 %X 1/2 x 2 = 1.13
BELR TR
7 ( 3.48 268 ) X 057 X 1/2 X 14 = 24.58
4 ( 355 275 ) X 057 X 1/2 x 8 = 14.36
v ( 0.45 0.05 ) X 057 X 1/2 x 2 = 0.29
BT 1 257.85 257.9 nf
s
a 045 X 4 X 280 X 6 = 30.24
b ( 030 X 2 + 045 ) X 2.80 X 10 = 29.40
¢c ( 015 X 2 + 045 ) X 2.80 X 6 = 12.60
d ( 030 + 030 ) X 280 X 4 = 6.72
e ( 030 + 0.5 ) X 280 X 4 = 5.04
PepRmtrEaE]
0.25 X 280 X 2 X 6 = -8.40
FESREET > 2 75.60 75.6 m




T fE & Bl g B = % =
KIF
AS1  2.28 X 2.28 X 8 = 41.59
AS2  2.35 X 228 X 8 = 42.86
a (( 348 + 228 ) X 0.63 x 1/2 +
3.48 X 0.10) X 12 = 25.95
b ( 335 + 235 ) X 063 x 1/2 +
3.55 X 0.10) X 4 = 8.60
c ( 3.48 228 ) X 063 X 1/2 x 32 = 58.06
d (( 3.48 228 ) X 063 X 1/2 +
3.48 X 0.15) X 4 = 9.35
e ( 3.55 235 ) X 063 X 1/2 x 8 = 14.87
£ (( 3.35 235 ) X 063 X 1/2 +
3.55 X 0.15) X 4 = 9.31
g 3.48 X 029 x 12 = 12.11
h 355 X 029 X 4 = 4.12
Pepr (it EeE]
( 228 X 025 + 025 X 063 X 2) X 6 = -5.31
RABIET s 3 221.51 2215 o
a ( 228 X 045 + 045 X 063 X 2) X 16 = 25.49
1 i
( 348 x 015 + 0.20 X 060 x 1/2 )
X 2 X 12 = 13.97
b ( 235 X 045 + 045 X 0.63 X 2) X 4 = 6.50
1 i
( 355 X 015 + 0.20 X 060 x 1/2 )
X 2 X 4 = 4.74
GRyAE T > 4 50.70 50.7 m
B
W1 3.48 X 3.15 X 16 = 175.39
W2 3.55 X 3.15 X 8 = 89.46
[hyts
W3 348 X 315 X 2 X = 131.54
BEYRAE T T 5 396.39 396.4 nf
WHETAHRF X1 ~ X5 1002.05 1002  nf
BB A 748 X 420 x 4 = 125.66
B 7.75 X 420 X 2 = 65.10
C 3.48 X 420 x 2 = 29.23
D 3.88 X 4.20 X 2 = 32.59
E 5.85 X 4.20 X 4 = 98.28
F 4.05 X 4.20 X 8 = 136.08
G 1.63 X 4.20 X 8 = 54.77
H 1.78 X 420 X 4 = 29.90
I 160 X 420 X 6 = 40.32
i 185 X 4 X 420 X 6.00 = 186.48
798.410 800 ot




T Fi R 7 B = ¥ =
THBRAE
a7 —hL
\ 3.40 X 348 X 0.25 X 6 = 17.75
PEBR[ K-k~ TR ]
0.20 X 060 X 1/2 X 0.25 X 6 = -0.09
0.40 X 040 X 1/2 X 025 X 6 = -0.12
17.54 18 m
T A 3.40 X 348 X 2 X 6 = 141.98
PEBR[ K k2~ TR ]
0.20 X 060 X 1/2 X 2 X 6 = -0.72
040 X 040 X 1/2 X 2 X 6 = -0.96
140.30 140 nf
AT HEEAA N FEIE T ( 020 X 060 X 1/2 X 2+ 235 X 0.20)
X 025 X 6 = 0.89 0.9 of
AT HEEA AN T 348 X 2 X 6 = 41.76 41.8 m
EEE B A 1000 x 1000 = 2 2 AT
(hadEfr)
AL T T — MM D16 (26 26 ) X 6 fHPT = 312 312
kmx D2 (15 15 ) X 6 {577 = 180 180
T D22 ( 15 15 ) X 6 f&HF = 180 180
A FLBA 01358
cay ) —hIL v ( 1.30 X 130 - 1.00 X 1.00) X 0.50 X 2= 0.69 1.0 o
e T A ( 130 x4 X 050 + 130 X4 X 0.50 )
2 = 10.40 10 nt
HLART T — FrE D16 24 X 2 PR = 48 48 K
FRTGREL - E LR VP 18 AL
¢ 100 EBIEY
VP%® ¢ 100(#M%114mm) L = 0.25 m 5 A
011 X 314 X 025 X 5 X 6 fEp = 2.68 nf
AL
VP ¢ 100#M%114mm) L = 0.25 m 6 A
011 X 3.14 X 025 X 6 X 6 fEHpr = 3.22 nf
5.90 i 6.0




T Fi R 7 B = ¥ =

ATy T LT TR ATy 7 W 12 X 2 fE5p 24.00 24 T

DT ATy 7 (g [ 25 2 R% 12 X 2 f&pr 24.00 24 & Pt

Fea R A oA VBB TR N /3E) 24 + 3 8.00 8 & P
- Bkl bk AT H gk

el 16.50X16.50-(2.65X5.95) - (1.30X 1.30 X 2) =253.103 253.10

¥ (16.50+16.50) X 2X0.2 13.20

B A 37 1Y

(1.30+1.30) X2X0.50 X2 5.20
271.50 272.0 nf

<RI T AT

E=ll 1.00 X 2.00 X 1.50 X 32>7 9.00 9 m

FEAE MR A 9.00 9 m




2. B TH (b

;M

B 2R TEART &

i

BT fii%

LECERTER

BB AV PR IR R, 2 A
=N =2 GXfZ-1 ¢ 200mm m
i P R 3 U BHR Ry i 2, B L
ih =3 GXHE ¢ 200mm X 90° il
BB A VEEERE PRI AR 2 SRR (s, B L
T GXHE ¢ 200mm X ¢ 200mm &
BB A VRS ey Y e ]
Mk GXJE ¢ 200mm i
CXIEEEGH  #dm | ¢ 200mm L
) Y)Y Fazy b (27 Wi, THER b+ o IM20 X 255
GXJ¥% G-Linktyh ¢ 200mm HH
GXT7 A F— ¢ 200mm &
A% X ] ¢ 200mm L
A% X ] ¢ 100mm L
DIP7R— L7
i T EEAE F—U h200 ¢ 200mn H
RO LT LU WKT A =2 7
PLP 2FE% ¢ 100mm  3000L VN
RO F LR T A = Vi
PLP S3FIF% ¢ 100mm X ¢ 100mm 18
RO 2F LR T A =2 VI
PLP T v E ¢ 200mm L[E|
RO 2F LR T A = VI
PLP T v Y ¢ 100mm L[E|
V7 k= A ¢ 200mm pAe
V7 k= A ¢ 100mm pAe
FM L7
IRALFHE S ¢ 200mm S
Bl RN IE D 4 B ¢ 100mmH &
071 BH AR bifask=4 J&
071 BH AR Bk J&
B P i W ¢ 32X 3700L N
B P i BEKE ¢ 32X3800L N
e iE HL
SERRT ny) 300X 300 X 60 e
SR 0 Ay~ KB (FF) 150mmf" 7" v m




3.5 TE ()

Tl LR TR~k g =<¥iva iy
1B 9755
PEERE AR T (1) | ¢ 200mm 7.5 m
PR T (NF7) ¢ 100mm 8.0 m
X
GXTEAk A $ 200mm 7 |
LA il
GXTEAk A $ 200mm 2 |
BB G-Link#:4
GXTEAk TS $ 200mm 5 |
TIUUHEEL ¢ 200mm 7. 5k 12 =
TIUHEEL ¢ 100mm 7. 5k 10 M
SHERE U T $ 200mm 1 8]
)Tk E T ¢ 200mm 7 e
)Tk E T ¢ 100mm 2 e
RN PEHE LT 2| fEAT
M AHE A T Rhil 4B 4 fEpT
& Vv a) -7 ke T 200mm 7.5 m
BHRY-M L 7.5 m
2R EME T
HRERE L T 200mm 10 m
S A T 100mm 8 m
FEEREUL AT |200mm KRR 2 pe
SEEREULOI AT |200mm A 5 i
72 ARG e 100mm A JJ 2 e
770y RETFESN L 200mm 7.5k 7 A
770y RETFESN L 100mm 7.5k 2 A




4. L THFHEE

LNl E
- W | WEERE | BEIE | LHED | MR | GEE | ARSI | GPSTOET| SREE | EE | SRR | HSRIEH T mELE®) | BEET | R R | s T %
BAR
D A B DP H L 2X1L, BXL T T V=AXL BXLXH |H =D+0.10|BXLXH-V|BXLX (H-T-T-H")
(m) (m2) (m) (m) (m) (m) (m) (m2) (m) (m) (m3) (m3) (m) (m3) (m3) (m3)
DIp 0.22 | 0.082 | 055 1.00 1.22 8.00 0.00]  0.000 0.66 5.37 0.32 0.75 3.96 1.41
s 8.00 5.37 0.75 3.96 1.41
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
" (EAE1R)
0.00 0.00 0.00 0.00 0.00 5.37 0.00 0.75 3.96 1.41




. REERELHE

T f& ol g A = &
[ L&)
BT
( 765 + 435 ) x 2 X 270 = 64.80 2t
CREBEET
JZR S 5.70 X 2.40 = 13.68
Peprlmmn] 4600 2 fEET
0.600 2 X =n/4 X 2 & = -0.57
13.11
CSEPSRAE T PRIBE Wl 5.70 X 240 X 2 = 27.36
2 (020 + 0.03) x 570 X 2 = 2.62
w2 240 X 240 X 2 = 11.52
7 (020 + 0.03) x 240 X 2 = 1.10
PEpR[22AW]
1.80 X  0.90 = -1.62
e[ BRER7SD]
0.80 X 2.00 = -1.60
PERR[ ATV ]
0.35 X 0.15 X 2 = -0.11
> 1 39.27
K S 5.65 X 2.35 = 13.28
> 2 13.28
WETAH 21 ~ X 2 52.55
HMBEURAE T w1 6.00 X 240 X 2 = 28.80
¥ ( 585 + 0.20 ) X 0.20 X 2 = 2.42
w2 270 X 2.40 X 2 = 12.96
7 (255 + 0.20 ) X 0.20 X 2 = 1.10
el 2AW]
1.80 X 0.90 = -1.62
Pepr[ FrBR&RT7SD]
0.80 X 2.00 = -1.60
PRI HZY]
0.35 X 0.15 X 2 = -0.11
LIS
a 6.05 X 0.40 X 2 = 4.84
b 3.55 X 040 X 2 = 2.84
49.63
EARBL K EREE T S 6.85 X 3.55 = 24.32
5
( 6.8 + 355 ) X 2 X 0.10 = 2.08
26.40




T f& ol g A = % &
- B Tk AW-1 BIEFEWE 1.80 X 0.90 1 1 AT
SD-1 FBAXEE 0.80 X 2.00 1 1 EGn
AG-1 Bhs R M 0.35 x 0.15 2 2 (&30
HIATHEMATEN T 1.72 X 0.795 1.4 1.4 fHpT
Uk VL - T P ¢ 600fE 2 2 T
Bh KAy k—)V ¢ 6003% & 2 2 ET
RO EHEE - Bk 77— KA A 2 2 ¥
KALEHEE A
Bimar ) —h a7V —n)
0.50 X 0.20 X 0.25 X 24 FF 0.05 0.1 m
AR OIS TE )
(0.5+0.2) X 0.25 X 24 Ff 0.35 0.4 m
BIER T v — FEUMEDIO 10 10 K
TEA A MFOMEDI0 2501.X10
0.560ke/m X 0.25X 10 1.4 0.001 ¢




6. BEMFALSY

T f& | i " =X ¥ &
%) R RTF— LRT
0.8X2.0X0.0023X2X1.13t/ i 0.008 t
<$kE ¢ 600mm
(84ke /T X 2) X1.13t/m 0.189 t
g7 ¢ 250
110kg/ K& X 34 0.33 t
EEIF ¢ 100
30kg/ Kk X 3 0.09 t
0.62 ¢t 0.6 t
2. H T A HTA
1.8X0.9X0.006 X 1.2t/ i 0.011 t 0.01 ¢
3.7 —h BA DB L
0.7m X 2.5t/ m 1.75 t 1.8 t




7 ARGRECE T (b1

;M

5 Z2pi FEIR Tk B HAAL ik
LEE B
DIP/Hl 200X 100
AT b=V R BITFAE | A7 3N V77 [R5 b 1 &
DIPH 200X 150
AWK T W=V IRAFEITFAE | =277 AN W7 [R5 b 1 il
DIP 200
NN R A5 = EX A48 i 2 il
s DP1200fH FCD&! 4 L
SUSVv ANV 100A 4.0m UXS 1 N
SUSVv ANV 100A 2.0m UXS 2 N
SUSVv ANV 100A 1.0m UXS 3 N
SUSVv ANV 100A 0.3m UXS 5 N
VR
SUSVv ANV 100A 90° UXS 6 N
F-2
SUSVv ANV 100X 100U 1 N
SUSVv ANV 1004 SXF(E7K) 1 ZN
SUSVv ANV 1004 UXU(EZK) 1 i
ARy t— 100A 42 &
NINZI% 150A 4.0m UXS 4 i
NINZI% 150A 2.0m UXS 5 i
NINZI% 150A 1.0m UXS 3 i
NINZI% 150A 0.5m UXS 3 i
SUSVv NV 150A 0.3m UXS 5 i
VR
SUSVv NV 150A 90° UXS 4 i
P
SUSVv NV 150 X 150U 1 i
SUSVv NV 1504 SXF(E7K) 3 i
SUSVv NV 1504 UXU(EZK) 1 i
Ak oy o— 150A 56 18
1om3 U 2%
&S ) 2000 X 3000 X 2500H 1 =




8RR ALE L& (%)

K TR TR~ g HAL ~E e
LEE

ATV S E A R L 100A 15.4 m

ATV S E A R L 150A 35. 2 m

VAREAEY VAN i = E 100A 21| &

VAREAEY VAN i = E 150A 28| fET

WMET 100A 150A 1 2y




